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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 112 2 M1 for 240 ÷ (7 + 8) × 7  

2 (a) 211 cao 1  

 (b) 216 cao 1  

3 (x =) –3   (y =) 5  2 M1 for correctly eliminating one variable 

4 

81

16

  cao 2 B1 for

16

81

,

81

k

,

k

16

or (2/3)
4

 seen 

5 (a) 1.28 × 10
5 

1  

 (b) 128 500 1  

6 882 2 M1 800 × 1.05 × 1.05 

7 

9

1

,

4

1

 
M1 Both fractions seen 

 

⎟

⎠

⎞
⎜

⎝

⎛
=+

4

1

9

1

36

4

+

36

9

=

36

13

 

E1 Both fractions over a common denominator and 

added to give

36

13

 

8 0.186 2 B1 for 2.477 to 2.478 or 13.29… seen 

9 (a) 5 or −5 1  

 (b) −0.714 (−0.7143 to −0.7142) or −

7

5

 2 M1 for −2 + 2 + 1 − 3 − 1 − 2 and ÷ 7 

10 9 h 12 min 3 M1 for 8 × 1.15   A1 for 9.2 

B1 ft independent for their 9.2 correctly 

converted into hours and minutes 

11 x(p – 2q)(p + 2q) 3 M2 for (px – 2qx)(p + 2q) or (p – 2q)(px + 2qx) 

or M1 for x(p
2

 – 4q
2

)  

12 225.(23112) 3 M2 for (800 ÷ 3.8235 – 150) × 3.8025 

M1 for 800 ÷ 3.8235 

13 68.5   www 3 M2 for 67.13 ÷ 0.98 

or M1 for 67. 13 is 98%  

14 

3

2

66 or 66.7   www 3 M2 for 

)2(π

π

2

3

3

4

rr

r

 (× 100)   or M1 for )2(π
2

rr  

15  

xa

c

p

−

=  

3 M1 one correct move 

M1 second correct move 

M1 third correct move marked on answer line 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 (a) (i) 15 35 1 Accept 3.35 pm 

Condone 1535 pm 

  (ii) (0)4 20 pm   cao 1  

 (b) (i) 16(.00) 1  

  (ii) 96(.00) 2 M1 for 2 × 24 + 3 × their (b)(i)   seen or implied 

2 (a) 52.2(%) or 52.17… 1  

 (b) 11000 − (32 ÷ 100 × 11000)    

 or (68 ÷ 100 × 11000) 

M1  

  (=) 7480 E1 Must see this for the second mark. 

 (c) 8293 or 8290 or 8293.2 

 or 8293.21   as final answer 

3 Either M1 for 7480 × 1.035
2

   oe 

or M1 for 7480 × 1.035 = 7741.8  

and their 7741.8 × 1.035 

(M1 implied by 8012.76...) 

Then M1 dep for completion of method for the 

third year 

If zero SC1 for answer 813.(2…) 

 (d) (i) 4 400 1  

  (ii) 4 950 1  

  (iii) 1 650 1ft 11 000 − their (d)(i) − their (d)(ii) 

 (e) 8 : 9 : 3   cao 2 B1 for 40 : 45 : 15   oe   seen or correct  

non-integer ratio 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied  
 

Qu Answers Mark Part marks 

1 (a) 

 

 (b) 

9486000 

 

9.486 × 10
6

 

1 

 

1ft 

 

2 495.36 2 M1 for 700 ÷ 1.4131 

3 3p(5p + 8t) final answer 2 B1 for answer of 3(5p
2

 + 8pt) or p(15p + 24t) 

or SC1 for correct answer seen in working 

 
4 tan 25 < 220.  < 0.47 < 

17

8

 

 
2 

 
M1 correct conversion to decimals 0.466, 0.469, 0.471 

 
5 

 
23.2 

 
2 M1 for 

29

253sin

x

. =  implicit form or better  

6 7 2 M1 27

5

9848

.

y

=

++++

 oe 

7 30.7975 cao  2 M1 6.35 and 4.85 seen  

8 9 2 M1 
3

5125 =   

9 (a) 

 

 

 (b) 

angle of 67° at B 

 

 

perpendicular bisector of AB  

1 

 

 

2 

B1 C marked on AD unless the line stops at AD and 

also correct ruled line 

 

B1 correct arcs B1 correct ruled line 

 

10 

 

843.75 

 

3 M2 for 750

100

5.25750

+

××

oe 

 

or M1 for 

100

5.25750 ××

 oe 

 

or SC2 for answer 93.75 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied  
Qu Answers Mark Part marks 

1 95  2 B1 for 85 seen 

or M1 x = 180 – their angle ADC, if it is clearly seen  

2 120  2 

M1 for 

100

82750 ××

 oe seen or SC1 870 as final 

answer 

3 (a) 

  (b) 

3.26077… 

 

3.261  

1 

 

1ft 

seen 

 

their (a) to 4 significant figures  

4 y ø –1.25 2 M1 inequality with y’s and constants correctly 

collected  

5 33 cao www  2 M1 any two of 5.5, 9.5, 12.5 seen  

6 31.7 2 M1 0.5 × 9 × 15 × sin 28 

7 u = 24(.0), v = 0.6  2 B1 each  

8 7 cao  3 B1 for 39.5(0) or 31.5(0) or 42  

M1 for (their 39.5 – 8) ÷ 4.5 or (their 42 – 10.5) ÷ 4.5 

9 ( )

3

2 ta −

 cao oe 
3 M1 correct re-arrangement to isolate the term in w 

M1 correct multiplication by a 

M1 correct division by their 3 

An incorrect answer scores a maximum of M2 

10 10  3 M1 T = k√l   A1 for k = 2 

11 17.05 cao www 4 

M1 for 280 × (1 + 

100

3

)
2

 oe  

M1 subtracting 280 from 280(1 + 

100

k

)
2

 any k 

A1 for 17.052 or SC2 297.05 on answer line 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied  
Qu Answers Mark Part marks 

1 95  2 B1 for 85 seen 

or M1 x = 180 – their angle ADC, if it is clearly seen  

2 120  2 

M1 for 

100

82750 ××

 oe seen or SC1 870 as final 

answer 

3 (a) 

  (b) 

3.26077… 

 

3.261  

1 

 

1ft 

seen 

 

their (a) to 4 significant figures  

4 y ø –1.25 2 M1 inequality with y’s and constants correctly 

collected  

5 33 cao www  2 M1 any two of 5.5, 9.5, 12.5 seen  

6 31.7 2 M1 0.5 × 9 × 15 × sin 28 

7 u = 24(.0), v = 0.6  2 B1 each  

8 7 cao  3 B1 for 39.5(0) or 31.5(0) or 42  

M1 for (their 39.5 – 8) ÷ 4.5 or (their 42 – 10.5) ÷ 4.5 

9 ( )

3

2 ta −

 cao oe 
3 M1 correct re-arrangement to isolate the term in w 

M1 correct multiplication by a 

M1 correct division by their 3 

An incorrect answer scores a maximum of M2 

10 10  3 M1 T = k√l   A1 for k = 2 

11 17.05 cao www 4 

M1 for 280 × (1 + 

100

3

)
2

 oe  

M1 subtracting 280 from 280(1 + 

100

k

)
2

 any k 

A1 for 17.052 or SC2 297.05 on answer line 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

art anything rounding to 

soi seen or implied 

 

Qu. Answers Mark Part Marks 

1 (a) (i) 6 correct plots 2 P1 for 4 or 5 correct plots.  

  (ii) Positive 1  

  (iii) Line of best fit  1 Ruled line at least from x = 5 to x = 48, with at 

least 3 points on each side and cuts axes between 

(5, 0) and (0, 20)  

  (iv) English (integer) value on line at 

M = 22 

1ft Strict ft from their single ruled line 5 ø x ø 48.  

 (b) (26 + 39 + 35 + 28 + 9 + 37 + 45 + 33 

+ 16 + 12) ÷ 10 

M2 M1 for 26 + 39 + 35 + 28 + 9 + 37 + 45 + 33 + 16 

+ 12, condone one slip 

or SC1, for at least 2 values  

eg (26 + 39 +…) ÷ 10 

 (c) 46   cao   www 3 3 M2 for (31 × 12 – 28 × 10) ÷ 2 soi by 92 ÷ 2  

or M1 for 31 × 12 soi by 372 or 92 

2 (a) 445 final answer    www 3 3 M2 for 351.55 ÷ (1 – 0.21)  oe 

or M1 for 351.55 = (100 – 21) (%) 

 (b) 640  or  4640 

4622.5  or  622.5 

 

 

 

 

Alex by 17.5(0)   cao final answer 

www 6 

2 

2 

 

 

 

 

2 

M1 for 4000 × 0.08 × 2 oe 

M1 for 4000 × (1.075)
2

 oe 

or 4000 × 0.075 (= 300) and (4000 + their 300) × 

0.075 and total interest = the sum of their 2 

interests.  
M1 for  S I amount – C I amount or reverse 

or  simple interest –  compound interest or reverse 
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3 (a) quadrilateral 1  

 (b) obtuse 1  

 (c) 23.6–24.4 2 M1 for 11.8 – 12.2 

 (d) 31–35 1  

 (e) construction of perpendicular 

bisector of EH 

part circle centre H radius 7 cm 

indication of region 

5 B1 for two pairs of arcs, same radius, centres E 

and H 

B1 for bisector within 2mm of correct one, ± 2° of 

correct angle 

B1 for part circle centre H 

B1 for radius 7 cm  

B1ft for an indication of the region, ft dependent 

on at least B2 from above 

 (f) 6135.36 or 6135.4 or 6135 or 6140 2 M1 for 33.2 × 16.8 × 11 

4 (a) 107.52 3 M1 2×24 + 3×16 or 96 

M1 for their 96 × 1.12 oe 

 (b) 28.8(0)  2 M1 for 24 × 1.2(0) oe 

 (c) 14 3 B1 for 42(c) or ($ 0).42  

M1 for their 

300

42

oe (× 100) or 

3

42.0

 (× 100) 

 

alt. method : M1 

3

42.3

 (× 100) or 

300

342

 (× 100) 

M1 their 114 – 100 

5 (a) two correct ruled lines 1,1 SC1 correct but freehand or fully correct with one 

extra line 

 (b) correct square shaded 1  

 (c) correct enlargement 2 1 for a correct side 

 (d) (i) 1, –5 1  

  (ii) correct reflection 1  

  (iii) correct translation  2 B1 for either direction e.g. 1 to the right or 3 down 

SC1 for complete correct 3 left and 1 up triangle  

  (iv) rotation, (centre) (0,0) 

angle 180 

3 1 for rotation, 1 for (centre) (0,0), 1 for angle 180 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 –16 2 M1 for 4 × 6.5  

 
2 [0].852 or 

27

23

 

 
2 

 

B1 for 85.56 or 

25

2139

 

3 (a) 3 

 

(b) 4 

1 

 

1 

 

 

 
4 

2

5

9

17

or  

2

5

9

17

÷  

 

45

34

5

2

9

17

=×  

 

  
M1 

 

  
M1 

18

45

18

34

or  

18

45

18

34

÷  

 

45

34

45

18

18

34

=×  

5 a
(1)

 – b
(1)

   www  cao 2 M1 for a
½ 

a
½

 – a
½ 

b
½

 + a
½

b
½

 – b
½

b
½

 oe 

6 144 2 M1 for ABC = 72 or AOC reflex = 216 

Angles must be fully stated or marked in 

correct place on diagram 

7 16 2 M1 for 768 ÷ 48  

8 543.19 3 

 

M2 for 500 × 1.028
3 

oe or long method 

or M1 for 500 × 1.028
n 

, n = 2 or 4 

9 x Y 39 www 3 M1 correct first move   

M1 correct 2nd move  

M1 correct move to answer line 

10 70 3 B1 24.5 or 0.35 seen 

M1 their LB ÷ their UB  

11 2.5 

 

3 M1 R = k/d
2

 A1 k = 40 

or M1 Rd
2

 = k A1 k = 40 

12 112 or 112.3 to 112.33
 

3 M2 for π × 6
2

 – π × 0.5
2 

or M1 for π × 6
2

 or π × 0.5
2

 seen 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working  
Qu. Answers Mark Part Marks 

1 (a) 8000 cao 

 

(b) 0.08 cao 

1 

 

1 

 

 

2 1.4 cao 2 M1 1.44(…) or 1.45 

3 

118.75 or 118  cao 

2 M1  3(20)
2

 + 8(20)(–5) + 3(–5)
2

 or better 

4 60 2 M1   360 ÷ 6 

5 96 2 

 

M1  72 / 0.75 oe 

or M1  0.75x = 72 oe 

6 (a) 4  

 

(b) 2 

 

(c) 1 cao
 

1 

 

1 

 

1 

 

7 2.119 × 10
8

 cao 

 

3 M1 81500 oe 

M1 their LB × 2600 

8 113000  or  112795 to 112840 3 B1 for  85000 

M1 for  π × 0.65
2

 × figs 85 

9 (a) 5 30 pm 

 

(b) 67 

1 

 

2 

 

 

M1 for 10h45min and 3h 15min oe seen 

10 

3.4 or  

3 M1 22 – 6x   

M1 4x + 6x  = 22 + 12 

11 11, 13, 17, 19, 23 3 B2 3 or 4 correct   

or B1 2 correct 

If B0 then M1 for x >10.5 and M1 for x < 26.5  

or M1 for 10.5 and 26.5 seen 

12 12 by 30 by 42 

 

3 B1 for 10 × 25 × 35 or 8750 

M1 

3

8750

15120

  (= 1.2)
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 
1 

 

96 

 
2 M1 for 

100

82600 ××

 oe  

If zero SC1 696 

 
2 

100

1

+

25

4

 or 0.1
2

 + 0.4
2

 oe 

100

1

+ 

100

16

= 0.17 or 0.01 + 0.16 = 0.17
 

 
M1  
M1 

 

     
Independent  

 
3 

 

 

180 

 
2 M1 for  

20

12300×

oe 

4 3y – y
4

 final answer
 

2 B1 for  3y  or  – y
4

 as part of two term expression 

5 88.2(0) 2 M1 for 84 × 1.05 oe 

6 Accurate perpendicular bisector of RT with 

arcs. 

2 B1 for 2 pairs of correct arcs 

B1 for correct line 

7 8.471 cao 2 
B1 for 8.47 or 8.4705 to 8.4706 or 

17

144

 or 
17

8

8  

8 249.5 [Y j<=] 250.5 cao 2 B1 for either, or both correct but reversed 

 

9 

 

 

 

 

 

 

2 

 

B1 for one correct 

10 Correct working seen 2 M1 for correct step M1 for correct step 

11 4w
64

 2 B1 for 4w
n

 or kw
64 

12 40 6
 

2 B1 for one correct 

13 23 – 2x 

   12 

3 M1 for two correct algebraic fractions with a 

common denominator of 12 

M1 for correctly collecting their terms   

M1 for dealing correctly with the 1  

14 3, –3 or ±3 3 M1 for y = k/√x oe  A1 for 18 


